2 A 160x200 Art. nr.: 20660008/01
R R @ 180x200 OVI E D O 20660008/02
45 min
A H I J L
<§> ] -
g 10cm = @
M8x130] M8x50 M8*24 | M8x20 | 820*95*60| 4x16 M8
4 4 | 4 1 14 | 6 2 1 8 | 8

Dimension

Quantity

Collie Length [cm] Width [ecm]|Height [cm]| [pcs]

160x200 180x200

168 188 15 120 1
160 180 200 27 1
80 90 200 27 al
80 90 200 27 1

ver02 - 30.09.2021. 1/4



ver02 - 30.09.2021. o/4


Korisnik
Oval

Korisnik
Oval

Korisnik
Typewritten Text
3

Korisnik
Typewritten Text
4

Korisnik
Oval

Korisnik
Oval

Korisnik
Line

Korisnik
Line

Korisnik
Line

Korisnik
Oval

Korisnik
Typewritten Text
B

Korisnik
Line

Korisnik
Line

Korisnik
Oval

Korisnik
Typewritten Text
H

Korisnik
Line

Korisnik
Line

Korisnik
Oval

Korisnik
Typewritten Text
L

Korisnik
Oval

Korisnik
Oval

Korisnik
Line

Korisnik
Line

Korisnik
Oval

Korisnik
Line

Korisnik
Line

Korisnik
Typewritten Text
C

Korisnik
Oval

Korisnik
Oval

Korisnik
Oval

Korisnik
Typewritten Text
1

Korisnik
Typewritten Text
4

Korisnik
Typewritten Text
3

Korisnik
Line

Korisnik
Line

Korisnik
Oval

Korisnik
Typewritten Text
H

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Line


o
HE B EEEEEEEEN

ver(02 - 30.09.2021. 3/4


Korisnik
Oval

Korisnik
Oval

Korisnik
Oval

Korisnik
Oval

Korisnik
Oval

Korisnik
Oval

Korisnik
Line

Korisnik
Line

Korisnik
Typewritten Text
1

Korisnik
Typewritten Text
2

Korisnik
Typewritten Text
3

Korisnik
Typewritten Text
4

Korisnik
Line

Korisnik
Line

Korisnik
Oval

Korisnik
Typewritten Text
L

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Rectangle

Korisnik
Line

Korisnik
Line

Korisnik
Oval

Korisnik
Line

Korisnik
Oval

Korisnik
Line

Korisnik
Line

Korisnik
Line

Korisnik
Oval

Korisnik
Typewritten Text
H

Korisnik
Typewritten Text
3

Korisnik
Typewritten Text
I

Korisnik
Line

Korisnik
Line

Korisnik
Oval

Korisnik
Line

Korisnik
Line

Korisnik
Line

Korisnik
Line

Korisnik
Oval

Korisnik
Typewritten Text
I

Korisnik
Typewritten Text
H

Korisnik
Oval

Korisnik
Typewritten Text
4

Korisnik
Line

Korisnik
Line

Korisnik
Line

Korisnik
Line

Korisnik
Oval

Korisnik
Typewritten Text
K

Korisnik
Line

Korisnik
Line

Korisnik
Line

Korisnik
Line

Korisnik
Oval

Korisnik
Typewritten Text
K

Korisnik
Oval

Korisnik
Typewritten Text
J

Korisnik
Oval

Korisnik
Typewritten Text
J

Korisnik
Line


Uputstvo za montazu
Assembly instructions
Montageanleitungen

Navodila za montazo

ver02 - 30.09.2021. 4/4




	MA_Deckblatt_PB_Meise_07
	MA_85_Atesio_Storage_01
	MA_85_Atesio_Storage_01
	MA_85_Atesio_Storage_02

	Blank Page
	Blank Page
	Instructions_use.pdf
	MA_85_Paula
	MA_85_Paula
	2018_12_11_MA_85_Paula


	MA_Deckblatt_PB_Meise_07

	Blank Page



